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exp: exp "+° exp { result += val[2] }
exp "-" exp { result -= val[2] }
exp "*" exp { result *= val[2] }
exp /% exp { result /= val[2] }
exp "~ exp { result **= val[2] }
(" exp ") { result = val[1] }
"-" exp =UMINUS { result = -val[1] }
NUMBER
IDENT { result = do_varref( val[0] ) }
IDENT *(" args ")"
{ result = do_funcall( val[0], val[2] ) }

args : { result
exp { result
args "," exp

\(result.push( val[2] ) }

result = val[0].push( val[2] ) }
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val } # result = [val[0]]

inner (2380

ZDOIFKRXF . L ol
def do_funcall(m;s ) FABMEINER S

receiver = Object.new
if receiver.respond_to?( func, true ) then

elsif args[0] then
receiver = args.shift
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else DORETB)BYITLAELY,
receiver = nil args M/N\—RBFIC, EHEB-S
end TFHBLTLESALTHS

receiver.send( func, *args )

end S~
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include Math

respond_to? (Object) s ==

WEHSI - £20 -l > Objedt > respond_to?

|obj.rrnpmd_tu?(nwn. private = false)

respond_to? 30U B, L= TDATSL 0 MCHL T VY FEFREE S EIMERAET, 5lfinome (T
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class Cat
def hello
“maow ™
wnd

private
def sleep
end

end

cat = Cat.new

p cat.respond_tol(:object_id)
p cat.respond_to?(:hello)

p cat.respond_to?(:sleep)

P cat.respond_to?(:sleep, true)
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= Math.exp( 1.23 ).to_i
= (Math.exp( 1.23)).to_i
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FHAIDEM Math.exp(3) DEE,
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IDENT *." IDENT
{ result = do_methodinvoke( val[0], 12110 ) ¥
IDENT *." IDENT "(" args ")"

{ result = do_methodinvoke( val[0], val[2], val[4] ) }
| exp "." IDENT

{ result = do_methodinvoke( val[0], val[2], [1 ) }
exp "." IDENT "(* args ")~

{ result = do_methodinvoke( val[0], val[2], val[4] ) }

3.1.to_i M&EF
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def do_methodinvoke( object, /method, args )
if object.class == Symbol then MathZ D L& #iH A->
receiver = eval(object.id2name)+ TL\AEED KLY
else N
receiver = object//3'5 EDENA>TNSEE
end
if receiver.respond_to?( method, true ) then

elée I ) -
receiver = nil . OEOETIS—FERITHDLE

end
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if args==[] then
receiver.send( method )

else
C#EE, shift/reduce conflicts #2245, default Té BshiftiE st engece"’er'se”d( method, *args )
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while true
puts
print *? *©
str = gets.chop!
break if /g/i =~ str
begin
puts "= #{parser.parse(str)}"

rescue NoMethodError

rescue ArgumentError AL TLESH &L
puts $!

rescue ParseError
puts $!

end
end

rescue NoMethodError, ArgumentError, ParseError
print $!, "¥n"
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? Math.exp(3)
= 20.0855369231877

? X=%%*2
40.1710738463753
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when /¥A%%/
@q.push [$&, $&]

&

| '%%' { result = @lastresult}
&

@Iastresult = do_parse
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